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= 4,127,178 3,829,696 297,482
pJ 0 270,116 A270,116
[ 3,544,273 3,499,080 45,193
=2 2,093,787 2,093,787 0
iml 984,232 975,795 8,437
Al 15,831,958 15,537,830 294,128
AZIEXNSE (M2 /HAHNSKR) 4,159,794 4,955,332 A795,538
= 98,664 328,878 A230,214
) 0 270,116 A270,116
[= 313,832 431,176 A117,344
iml 284,618 284,618 0
Al 3,462,680 3,640,544 NA177,864
A Z2X X 3,132,856 3,132,894 A38
[ 162,860 162,860 0
iml 284,618 284,618 0
Al 2,685,378 2,685,416 A38
A 2 XX 2,277,260 2,276,828 432
iml 284,618 284,618 0
Al 1,992,642 1,992,210 432
201 LBt AH| 81,417 67,457 13,960
01 AFR2t2lH] 57,660 41,900 15,760
O1.2Btx=2H| 47,800 30,500 17,300
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Z3A 6,300,000 6,300 7,000 A700
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O5. 2 2] 1,260 2,800 A1,540
“AFEIEXYR =X ZA(EY)
Z3A 1,260,000 1,260 2,800 A1,540
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202 OfH] 3,720 7,920 A4,200
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O™AIAHIBAZ(EY)
43 50,452,0008 - JI& 55,680,000 Nb5,228 0 Nb,228
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01 2o 2,880 1,800 1,080
OMEAH= HRFA0H|
60,0002 *3& 3 23] 1,080 0 1,080
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01 =UH0itl 0 1,440 A1,440
OBLFAAMY Z0IH A (LAOIS)
23 02 0 1,440 A1,440
= 0 432 ~432
Al 0 1,008 A1,008
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Al 0 1,898 A1,898
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pJ 0 108,732 ~ 108,732
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Al 0 70,676 A70,676
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= 98,664 328,878 ~230,214
[ 8,632 28,776 N20,144
Al 16,034 53,444 A37,410
301 LeEtE A3 123,330 411,098 287,768
= 98,664 328,878 A230,214
[= 8,632 28,776 N20,144
Al 16,034 53,444 A37,410
01 MIEEE2E 2 123,330 411,098 N287,768
OLBAMOIE R0 X (R AOIS)
Z& 123,330,000 123,330 411,098 287,768
= 98,664 328,878 N230,214
[ 8,632 28,776 20,144
Al 16,034 53,444 A37,410
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[ 2,160 4,320 22,160
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405 RtarE S| 44,140 4,600 39,540
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OTEE 513Y 2B2Y(EY)
B 4,140,0008 - JIE 4,600,0002 2460 0 A 460
SEHHIT HMOAE FIIPY 40,000,008 40,000 0 40,000
COI= XX 17,421,166 16,539,657 881,509
2 3,219, 167 2,791,471 427,696
= 2,787,637 2,655, 100 132,537
= 2,093,787 2,093,787 0
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LOEE0HIRHXEA(EXR) 819,215 862,608 A43,393
= 573,450 593,825 N20,375
= 73,729 80,635 AB6,906
Al 172,036 188, 148 AN16,112
307 QI2tolA 819,215 862,608 A43,393
= 573,450 593,825 N20,375
= 73,729 80,635 A6,906
Al 172,036 188, 148 AN16,112
05 QI2tREZ 819,215 862,608 A43,393
OLQ=s20|(HIL M) 43 819,215,000 819,215 862,608 A43,393
= 573,450 593,825 N20,375
= 73,729 80,635 A6,906
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= 1,626,775 1,568,381 58,394
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LOIEXAA &5 4,430,301 4,231,181 199, 120
= 809, 347 709,347 100,000
= 442,804 412,804 30,000
iml 270,437 262,000 8,437
Al 2,907,713 2,847,030 60,683
LoI=2XAlE X 10,320 11,200 A 880
201 2Er23H| 5,760 6,400 AB40
01 AtR22ldl 5,760 6,400 A 640
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202 Ol 4,560 4,800 N240
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201 YBr2 ] 9,075 10,030 £955
01 ARl 8,595 9,550 £955
O1. 2BH+SHI(RY) 6,550,008 %10/100 655 0 655
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